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| PART A: Vocabulary

Directions: Choose the word or the phrase (1), (2), (3), or (4) that best completes the blank.
_Then mark the correct choice on your answer sheet.

I-  Animal welfare science is an emerging field that seeks to answer questions —-----eu-e- -
by the keeping and use of animals.
1) raised 2) resolved 3) settled 4) evolved

2-  The low soil fertility problem can be ------——--—---- by applying the appropriate lime and
organic fertilizers.
1) traced 2) preceded 3) mitigated 4) necessitated

3-  The chef furnished his assistant with very explicit instructions regarding the ——------ennne-
to be used for the new dish.

1) properties 2) aesthetics 3) ceremonies 4) ingredients

4-  The problem of power cut was so important that we decided not to bother about the
other -----=-mevnv- -- issues that were not much of a concern at that time.
1) gradual 2) peripheral 3) tranquil 4) lucrative

5-  Everybody knows that Ted is a chronic procrastinator; he ---------—--—-- puts off doing his
assignments until the last minute.
| ) spontaneously 2) marginally 3) habitually 4) superficially

6- The world's governments have made a joint --—----nmmnmm to significantly reduce
greenhouse gas emissions by the year 2030.
1) malady 2) determination 3) involvement 4) pledge

7-  Scientists do their best try to —---- - themselves from their biases and be objective.
1) detach 2) delete 3) ignore 4) strengthen

8- The local businessman accused the newspaper of defaming him by publishing an article
that said his company was -=----=e-eeue=- managed.
1) seriously 2) centrally 3) poorly 4) crucially

9-  Landing a plane on an aircraft carrier requires a great deal of --——-eeeeeeeen , 4S8 You can
crash if you miss the landing zone by even a little bit.
1) determination 2) precision 3) rationality 4) consultation

10-  New growth of the body’s smallest vessels, for instance, enables cancers to enlarge and
spread and contributes to the blindness that can -—--—----—-—- diabetes.

1) cause 2) halt 3) identify 4) accompany
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| PART B: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
7 each space. Then mark the correct choice on your answer sheet.

Estimates of the number of humans that Earth can sustain have ranged in recent
decades from lewer than a billion to more than a trillion. (11) =eeemememeeeeee , since
“carrying capacity” is essentially a subjective term. It makes little sense to talk about
carrying capacity in relationship to humans, (12) =—==meeemeenee- and altering both their
culture and their physical environment, (13) --==-===-=---— can thus defy any formula
(14) ======eemeeeme= the matter. The number of people that Earth can support depends on
(15) ~=========————, on what we want to consume, and on what we regard as a crowd.

11- 1) Itis probably unavoidable that such elasticity
2) Such elasticity is probably unavoidable
3) It is such elasticity probably unavoidable
4) That it is probably unavoidable for such elasticity

12- 1) that adapt their capability 2) whose capability is adapted
3) who are capable of adaptation 4) who are capable of adapting
13- 1) therefore 2) because 3) and 4) next
14- 1) might settle 2) might be settling
3) that might settle 4) which it might settle
15- 1) how we on Earth want to live 2) Earth where we want to live
3) where we want to live in on Earth 4) where do we want to live on Earth

PART C: Reading Comprehension:

Directions: Read the following three passages and answer the questions by choosing the best
choice (1), (2), (3), or (4). Then mark the correct choice on your answer sheet.

PASSAGE 1:

Amphibians, especially frogs of the Ranidae family, are often used in research, but
hematologic evaluation of amphibians is rarely used in establishing the diagnosis of
amphibian diseases. In fact. establishing reference values and the hematologic
interpretation can be challenging because of the various extrinsic and intrinsic factors
that influence these results. Extrinsic factors, such as season. water-quality, and diet,
should be noted whenever reference values are reported. Adaptation to a specific
environment also influences the hematologic parameters. Important intrinsic factors
include gender and age: larval and adult stages should be considered as separate
entities. each with their own reference interval.

Two forms of erythrocytes differentiated by size and morphology appear to occur in
amphibians. One form, a larger elongated form is considered to be the larval form.
whereas a smaller. rounded form is considered to be the adult form. The transition
begins at the onset of metamorphosis and by day 12 a complete transformation to all
adult forms occurs.
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Amphibian leukocytes generally are larger than those of mammals. Amphibian
neutrophils have multilobed nuclei with small cytoplasmic granules that vary in size.
shape, and ultrastructure between species. Cells with small eosinophilic cytoplasmic
granules often are referred to as heterophils. Amphibian platelets are nucleated cells
resembling those described for birds, reptiles, and fish. They tend to resemble small,
mature lymphocytes but often are spindle shaped, with a dense, round to oval nucleus
and abundant, colorless cytoplasm.

When reporting hematologic values in frogs, all of the following items should be
considered, EXCEPT ----ecemcamaeee y

1) external factors 2) internal factors

3) gender and age 4) species variations

In amphibians, which Kind of leukocytes might be varied between species?

1) Neutrophils 2) Eosinophls 3) Basophils 4) Monocytes
Which of the following blood cells are involved in metamorphosis?

1) Leukocytes 2) Thrombocytes 3) Lymphocytes 4) Erythrocytes

Which statement related to thrombocytes in amphibians is true?

1) They are round cells with abundant cytoplasm.

2) Theycontain a round and an oval nucleus with a pale cytoplasm.

3) They are spherical cells like small lymphocytes with a large cytoplasm.
4) They possess an ellipsoid shape with a large pale cytoplasm.

Which of the following would be the best title for the passage?

1) Morphology of Amphibian Erythrocytes

2) Hematology of Amphibians

3) Morphology of Amphibian Leukocytes

4) Morphology of Amphibian Platelets

PASSAGE 2:

The glomerular tuft is composed of a network of capillaries. In mammals, renal arterial
blood flows to the afferent arteriole. which divides into numerous glomerular
capillaries. The capillaries anastomose to form the efferent arteriole, which conducts
the filtered blood away from the glomerulus. Avian kidneys contain both mammalian
type nephrons with larger corpuscles. which are located in medullary zone and the
outer reptilian type nephrons. In glomeruli of the latter nephrons. the capillaries have
few branches.

The glomerular tuft is encased by Bowman's capsule. which is lined with a single
layer of cells. the parietal epithelium. The area between the glomerular tuft and
Bowman’s capsule is Bowman’s space. This is where the glomerular filtrate first
appears. From here. the glomerular filtrate enters the lumen of the first segment of the
proximal tubule. The structure of the glomerular capillaries is important in determining
the rate and selectivity of glomerular filtration. The wall of the capillary consists of
three layers: the capillary endothelium, the basement membrane, and the visceral
epithelium.

The capillary endothelium is a single layer of very thin cells that faces the blood in
the capillary lumen. Endothelial fenestrae are transcellular passages that conduct water
and non cellular components in the blood to the second layer of the glomerular
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capillary wall, the glomerular basement membrane. Compared to other basement
membranes, the glomerular basement membrane is thicker and contains distinct
glycoprotein isoforms. It has three layers, created during development by the fusion of
the basement membranes of the endothelial and epithelial cell layers. The three layers
are named according to their density and relative position.

From which segment is the filtered blood directly conducted to outside of glomeruli?
1) Afferent arteriole 2) Glomerular capillaries
3) Renal artery 4) Efferent arteriole

Based on the passage, which statement is true regarding the reptilian type nephrons?
1) Larger corpuscles with more branched capillaries, in medulla

2) Smaller corpuscles with few branched capillaries. in cortex

3) Larger corpuscles with few branched capillaries, in cortex

4) Smaller corpuscles with few branched capillaries, in medulla

From which site does the glomerular filtrate directly enter the proximal tubule?
1) Outside Bowman’s capsule

2) Between capillaries and Bowman's capsule

3) Between capillaries and renal capsule

4) Between glomerular tuft and renal capsule

Which parts of capillaries are more important in glomerular filtration?

1) Endothelium and visceral epithelium

2) Visceral epithelium and second layer

3) Endothelium and basement membrane

4) Visceral epithelium

What does *Endothelial fenestrae” in paragraph 3 refer to?

1) Pericytes of capillaries 2) Pores and basement membrane
3) The basement membrane 4) Pores in endothelium
PASSAGE 3:

A biosensor is an analytical device which converts a biological response into an
electrical signal. The term'biosensor’ is often used to cover sensor devices used in
order to determine the concentration of substances and other parameters of biological
interest even where they do not utilize a biological system directly. Biosensors
function by coupling a biological sensing element with a detector system using a
transducer. The scientifically proposed initiated by electrochemical sensors as well as
commercialized biosensors for multiple analytes. The following statement is also
defined for the biosensor. “A chemical sensing device in which a biologically derived
recognition is coupled to a transducer, to allow the quantitative development of some
complex biochemical parameter.”

The advantages of biosensors include low cost, small size, quick and easy use, as
well as a sensitivity and selectivity greater than the current instruments. Biosensors
have many uses in clinical analysis. general health care monitoring. The most
popular example is glucose oxidase-based sensor used by individuals suffering from
diabetes to monitor glucose levels in blood. Biosensors have found potential
applications in the industrial processing and monitoring, environmental pollution



¥ axio 232F

(184 u5) (Sl jaeld (550092 5 (903

26-

27-

28-

29-

30-

control, also in agricultural and food industries. The introduction of suitable

biosensors would have considerable impact in appropriate areas.

Which item was the first scientific proposed biosensor(s) for different analytes?
1) Electrochemical and commercialized biosensors

2) Commercialized biosensors

3) Physicochemical biosensors

4) Electrochemical biosensors

The term “analytes™ refers to which of the following definitions.
1) All elements or parameters that are being analyzed

2) The action of analysis

3) Only elements that would be analyzed

4) Only parameters that are being analyzed

From the first paragraph, which of the following statements could be implied?
'Biosensors' are being used for determination of --—-—-—-- .

1) The amount of biochemical parameters

2) The quality of biochemical parameters

3) Both quantity and quality of biochemical parameters

4) Only commercial parameters

According to the text, which statement is true?

1) Each biosensor should be used in its own field

2) All biosensors could be used in different fields

3) All biosensors are useful in medicine

4) Different sciences could use biosensors

Which of the following titles is more suitable for this passage?
1) Biosensors 2) Application of biosensors in medicine
3) Suitable biosensors 4) Electrochemical sensors
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